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IntroductionThis set of 410 ﬂashcards is designed to be used as a study aid for the ACT. The 

cardscover all ﬁve sections of the ACT: English, Math, Reading, Science, and 

Writing.There are 200 English/Reading cards, 200 Math/Science cards, and 10Writing cardsfor the essay.The cards serve two important purposes. First, 

theyare a review of skills most commonly tested. Second, they serve as 

real practice

  for the ACT.

For all sections, the Multiple-Choice cardsprovide the correct answer as well as  explanations for incorrect answers. 

Pay close attention to these explanations for maxi

-mum learning.

Depending on what cards you choose to review,having paper,pencil, and a 

graphing calculator by your side might come in handy.










The 25 English Strategy cardsare ﬁlled with test-taking tips for the English 

 portion of the ACT. The 

145 English Multiple-Choice cardsclosely reﬂect the  type and style of English questions found on the ACT.

The 40 Math Strategy cardsare ﬁlled with test-taking tips unique to the math 

 portion of the ACT. The 

110 Math Multiple-Choice cardsaccurately reﬂect the 

 type and style of math questions found on the ACT.

The 30 Reading Strategy cardsprovide valuable test-taking tips that will enable 

youto answer questions correctly.The 50 Science cardsare divided into three sections: 20 Strategy cards,  15 Deﬁnition cards, and 15 Multiple-Choice cards. The science cards closely  parallel the information that appears on the actual test andprovide valuable 

 test-taking tips.The 10 Writing cardscontain proven strategies for writing a cohesive and 

 complete essay.









English



















Strategy 1EnglishPick the most concise way of stating something.  Shortest is best.Pick the most concise way of stating something.  Shortest is best.
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To select the best way to organize words in a sentence, pick the answer choice that isboth clear, concise, and speciﬁc.
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Strategy 2EnglishUse process of elimination.
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Try to eliminate wrong answersas you look for the right one on all sections of the ACT. There is no penalty for guessing on the ACT, so eliminating wrong answers alsoincreases your probability of guessing correctly.



Random 1


Random 2


Random 3


[image: ]









Strategy 3EnglishDo not jump from question to question when  completing the English passages.
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Although it is tempting to simply go straight to the underlined portions of the English test, you must answer each question in order. Be sure to read the entire English passage, answering questions in their context.Another good strategy is to read a paragraph and answer the questions that  correspond to that paragraph, then go on to the next paragraph and do the same thing.
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Strategy 4EnglishDon’t be afraid to pick NO CHANGE  as an answer.
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On many questions the ﬁrst answer choice is always NO CHANGE. When it is offered, it is correct about 25% of the time. Be sure to consider it, and do not be afraid to select it as your answer. You may have several NO CHANGE answers in  a row.
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Strategy 5EnglishWork at a good pace on the English test.
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The entire English test is 45 minutes in length. There are 5 sections, each with  15 questions. As a general guide, spend 9 minutes per passage to ﬁnish on time.Do not leave any blank answers.
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Strategy 6EnglishThe ACT uses four methods to separate  two complete sentences.
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Two complete sentences can be separated by a:1. Period2.Comma before a conjunction (and, but, or, so)3.Semicolon4.Colon
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Strategy 7EnglishA comma is used in four ways on the English test.
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A comma can:1.separate a dependent clause from a complete sentence.2.surround a nonessential group of words.3.separate two adjectives or separate words in a list.4.connect two sentences before a conjunction.
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Strategy 8EnglishSet off a proper name with a pair of commas.



Random 1


Random 2


Random 3


[image: ]









Set off a proper name with a pair of commas if the name can be taken out of the sentence withoutchanging the meaning. Use commas when a sentence already identiﬁes a speciﬁc person without mentioning his or her name. For example, both 

ofthese sentences mean the same thing:Example:“Our 44th President was born in Honolulu, Hawaii.”“Our 44th President, Barack Obama, was born in Honolulu, Hawaii.”On the other hand, the following two sentences do not work the same way:Example:“The songwriter Bob Dylan is considered a lyrical genius.”“The songwriter is considered a lyrical genius.”
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Strategy 9EnglishA colon is used in two ways on the English test.
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1.Use a colon after a complete sentence that introduces either a list or an  explanation.2. Use a colon between two sentences when the second sentence explains the  ﬁrst.
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Strategy 10EnglishUse a dash in two ways on the English test.
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1.Use dashes instead of commas to surround a group of nonessential words.2.Dashes are usually used for emphasis—one dash and a colon have the same function.
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Strategy 11EnglishCheck subject-verb and subject-pronoun agreement.
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Long sentences are often ﬁlled with interrupting details in the English passages. Subjects can be far from the verb or pronoun with which they agree. Ask yourself whoor what is doing the action or what word is being replaced with a pronoun.
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Strategy 12EnglishKnow the differences between its, it’s, and its’.
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Itsis a possessive pronoun. Like all possessive pronouns, this word lacks an apos-trophe, even though we normally associate apostrophes with possession. 

Itsis the  correct choice whenever it’sis not correct (i.e., whenever mentally plugging in it is  does NOT make sense).It’sis a contraction of it is. If mentally plugging in it isdoes NOT make sense, then  it’sis wrong.There is no such word as its’. However, the ACT English test sometimes makes it  an answer choice just to confuse you. NEVERpick it!
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Strategy 13EnglishBeingis frequently an answer choice but  virtually nevercorrect.
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Because people so frequently misuse beingwhen writing, the ACT English loves to  include it among the wrong answers. This word tricks many people every time.Do not use beingas a synonym for becauseor for is.Remember: Beingis seldom used correctly on the ACT.
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Strategy 14EnglishBe careful of the way ACT uses the word although.
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The addition of althoughat the beginning of a sentence turns it from an independ-ent clause into a dependent one. If a sentence was correct with 

althoughand then  you either delete or change althoughto something else, you have created a run-on  sentence.
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Strategy 15EnglishDo not be tricked by suppose the writer’s goal. . .  questions.
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This most common trick asks you whether the writer succeededin addressing a broad subject when the passage is about a much more speciﬁcone. The answer will be  one of the “No” choices that gives this explanation.For example, the question might ask whether the writer succeeded in writingabout the  entire history of classical music even though the passage was about only  Beethoven. It might ask whether the author succeeded in writingabout the inﬂuence of comic books on society even though the passage was about only Superman.Decide yes or no before reading the answer choices. If you are undecided, quickly  check the title, ﬁrst paragraph, or conclusion. 
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Strategy 16EnglishReasons to choose DELETEon answer choices.
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Use DELETE when:1.the underlined portion is redundant.2.the underlined portion explains something that the reader already knows.3.the underlined portion gives an unnecessary deﬁnition for a common word.To determine what a paragraph would lose if a sentence is deleted, check the  function of the sentence. What is it telling the reader. 
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Strategy 17EnglishLearn when to add a phrase or sentence.
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Do not add a new phrase or sentence without reading the previous sentence and  the sentence that follows. One of those two sentences often contains a clue that  helps you determine when to add the suggested sentence.
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Strategy 18EnglishIdentify the subject of the sentence below.Evidence that humans are slowly evolving into two  different species is being ignored by scientists.
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The subject is evidence. Remember that although the subject of a sentence always needs to be either a noun or a pronoun, a noun does not always have to be a  physical being or object. Concept words like love, justice, and rhythm are nouns,  too. You must be able to identify the subject of a sentence because you need to  identify which word must agree with the verb.You would have been in trouble if you thought that humans, species, or scientistswere  the subjects of that sentence. These words are all plural, and only the singular  evidenceagrees with the singular verb is!
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Strategy 19EnglishTransitions made easy: 1.Moreover 2.Meanwhile 3.Additionally 4.Furthermore
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Transition words/phrases tend to mean either “sticking with the same subject” or  “changing to a different subject.”Moreover, additionally, and furthermoreall indicate that the writer is adding to the  same train of thought.Meanwhile, on the other hand, indicates that the writer is changing the subject to  something else that is going on at the same time.



Random 1


Random 2


Random 3


[image: ]









Strategy 20EnglishNouns and pronouns can be the object of  a verb or a preposition.
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You must know this concept because some pronouns can change case depending  on whether or not they are the object of something.For example, the subjective case Ichanges to the objective case mein the sentences  “He hit me” (object of the verb hit) and “Throw the ball to me” (object of the  preposition to).The one exception is that the verb to bedoes not require the objective case in pro-nouns. That is why it is correct for you to say “This is he” or “This is she” when  you answer the phone and someone asks to speak to you instead of saying “This is  him” or “This is her.”
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Strategy 21EnglishActive voice is preferable to passive voice.
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Passive voice reverses normal syntax by making the subject the object and the objectthe subject. It frequently involves adding a preposition. At other times,  passive voice makes the object the subject and omits the subject entirely  (for example, “The lamp got broken” instead of “I broke the lamp”).Although the passive voice is not technically grammatically incorrect, it is  considered awkward and unnecessary.You should avoid picking answer choices that involve the passive voice unless  something is even more wrong with all of the other choices.
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Strategy 22EnglishAnswering illustrate/supportquestions.
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If a question asks which answer best illustratesor supports, pick the choice that gives  the most speciﬁc details/examples.
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Strategy 23EnglishBe aware of not/leastacceptable questions.
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Most English ACT questions ask you to ﬁnd the correct answer.  Not/leastacceptable questions ask you to ﬁnd the incorrectanswer.Underline the not/leastto remind yourself to choose the incorrect answer.
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Strategy 24EnglishWhen to use whoor whomon the English test.
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Whois a subject pronoun and does the action.Example:Who threw the ball?Whomis an object pronoun and receives the action. It often follows a preposition  such as to, for, with, or of.Example:The ball was thrown to whom?
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Strategy 25EnglishSimilar words—different meanings.
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Review words that are often used and confused.Then—ThanThe group studied hard and then took the test. (sequence) The local team scored  better than the visiting team. (compares)Who’s—WhoseWho’s coming to dinner? (who is)Whose book is this? (possessive)
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Multiple-Choice 1EnglishThe evidence that hyenas are more closely related to  mongooses than they are to either dogs or cats is both  surprising and indisputable.A.NO CHANGEB.dogs or cats areC.dogs and cats areD.dogs and cats is
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A is correctbecause the subject of the sentence is evidence, which is singular, and  so the main verb is is. This is an example of subject verb agreement. Even though  thatis a relative pronoun rather than a preposition, this is essentially the same as  the prepositional-phrase trick. A clause between the main subject and verb of the  sentence can be removed. Just skip over it when analyzing the sentence.B is incorrect because areis plural and so does not agree with evidence.C is incorrect because areis plural and so does not agree with evidenceand also because eitherworks with or, not and.D is incorrect because eitherworks with or, not and.
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Multiple-Choice 2EnglishIf any college student wants to join a rock band at  school, youwould be wise to learn bass or drums  because singers and guitarists are a dime a dozen.A.NO CHANGEB.oneC.theyD.he or she
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D is correctbecause the main subject of the sentence, college student, is third-person  singular. So the sentence needs the third-person singular pronoun(s) he or she.A is incorrect. Although the informal second-person pronoun youis often used in hypothetical examples, in this particular sentence, it does not agree with the third-person college student, which is the subject.B is incorrect because the formal pronoun oneneeds to be used consistently. If  college studenthas already been established as the subject, then it cannot suddenly  be replaced with onelater in the sentence.C is incorrect. Although people frequently use theyas a gender-neutral, third- person, singular pronoun when speaking, it is still considered incorrect by  most authorities. TIP: It is deﬁnitely wrong on the ACT test!
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Multiple-Choice 3EnglishYou should always be on the lookout for new  opportunities, but oneshould also avoid burning  bridges if possible.A.NO CHANGEB. youC. he or sheD.people
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B is correctbecause the sentence is in the second person (you) and so the rest of  the sentence should not deviate from this. Constructions like oneor he or shemay  be more formal than the second person, but consistency is more important than  formality.A is incorrect because onedoes not match the initial you.C is incorrect because he or shedoes not match the initial you.D is incorrect because peopledoes not match the initial you.
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Multiple-Choice 4EnglishWhile playing kickball in the living room, the lamp got knocked over and smashed.A.NO CHANGEB.the lamp was knocked over and smashed.C.we knocked over the lamp and it smashed.D.nobody knew the lamp would be knocked over and smashed.
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C is correctbecause this is a dangling-modiﬁer question. Since the sentence beginswith the dependent descriptive word phrase While playing kickball in the living room, the noun or nouns that describe who were playing kickball need to come  immediately after that comma. Only choice C, which begins the independent  clause with the ﬁrst-person plural pronoun we, provides an acceptable answer.A is incorrect because this would imply that the lampitself was playing kickball in  the living room.B is incorrect because this would imply that the lampitself was playing kickball in  the living room. (The distinction between gotand wasin choices A and B is a red  herring.)D is incorrect because this would imply that nobodywas playing kickball in  the living room when obviously somebody must have been.
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Multiple-Choice 5EnglishAs the ﬁrst of my friends to own a home, I have always admired Mark.A.NO CHANGEB.and I have always admired Mark.C. is Mark, whom I have always admired.D.Mark is someone I have always admired.
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D is correctbecause the dependent descriptive phrase As the ﬁrst of my friends to own  a homeis referring to Mark. So the noun Markmust come immediately after the  comma.A is incorrect because this would imply that the speaker (I), rather than Mark,  is the ﬁrst of the friends to own a home.B is incorrect because the ﬁrst clause is not an independent one. So a comma plus  a conjunction is not necessary before the second.C is incorrect. Although this would be acceptable if the comma  after homewere omitted, the comma is still in the wrong place.
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Multiple-Choice 6EnglishBarring any unforeseen circumstances, she will get her  medical degree in London.A.NO CHANGEB.her medical degree will be obtained in London.C.and she will get her medical degree in London.D.she got her medical degree in London.
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A is correctbecause the introductory phrase Barring any unforeseen circumstancesmay  look like a modifying phrase, but it is actually an absolute constructionthat does not  refer to any speciﬁc noun elsewhere in the sentence. The sentence is correct the  way it is. This is only a dangling-modiﬁer question.B is incorrect because it is in the passive voice, which you should not use as long  as an active-voice option is available. (Choice A is in the active voice.)C is incorrect because it results in two dependent groups of words with no inde-pendentclause.

D is incorrect because it does not make sense. Do not introduce a past-tense  statement about a completed action with Barring any unforeseen circumstances, which  means “unless something unexpected happens.”
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Multiple-Choice 7EnglishWhile watching from the top of the hill, the sunset was indescribably beautiful.A.NO CHANGEB.the sunset is beautiful beyond description.C.we were awed by the sunset’s indescribable beauty.D.the beauty of the sunset was impossible to describe.
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C is correctbecause the dependent-descriptive phrase While watching from the top of  the hillneeds to be followed immediately by the noun that was doing the watching. Since wewere doing the watching, only choice C can be right. Only choice C  begins with a term referring to the people doing the watching.A is incorrect because this would imply that the sunset was watching itself.B is incorrect because this would imply that the sunset was watching itself.  (The tense change is a red herring.)D is incorrect because this would imply that the beauty of the sunset was  watching the sunset.
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Multiple-Choice 8EnglishIn a hurry to catch her train, Jennifer’s purse was left in  her car.A.NO CHANGEB.her purse was left in Jennifer’s car.C.and Jennifer left her purse in the car.D.Jennifer spaced out and left her purse in the car.
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D is correctbecause the noun being modiﬁed by In a hurry to catch her trainis  Jennifer, which needs to follow immediately after the comma. The expression spaced  outmay be informal. However, the other choices are grammatically wrong, and  informal is always preferable to wrong.A is incorrect because although it looks at ﬁrst as if Jennifer follows the comma,  the noun phrase Jennifer’s purseactually does. Jennifer was in a hurry, not her purse.B is incorrect because Jennifer was in a hurry, not her purse. So Jennifermust  follow the comma.C is incorrect because this results in a sentence where two dependent groups  of words are separated by a comma, with no independent clause.
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Multiple-Choice 9EnglishWhen the snow reached two feet, people left they’recars  parked in the lot.A.NO CHANGEB.theirC.thereD.there are
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B is correctbecause the spelling theiris used for the third-person plural possessive  pronoun, which is correct here. (The cars belong to them.)A is incorrect because they’reis a contraction of they are.C is incorrect because there(which can act as several different parts of speech)  involves specifying a physical or conceptual place and is not a possessive pronoun.D is incorrect because there arewould make no sense in context. Although there  are cars parked in the lotsounds ﬁne if you read only from that point forward,  reading the entire sentence will show that this choice results in nonsense.
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Multiple-Choice 10EnglishThere in they’re with their bear.A.NO CHANGEB.Their in there with they’reC.They’re in there with theirD.They’re in their with there
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C is correctbecause they’reis a contraction of they are, while thererefers to a  physical place (in this sentence), and 

theiris the third-person plural possessive   pronoun.A is incorrect because it reverses they’reand there(though theiris used correctly).B is incorrect because it reverses theirand they’re(though thereis used correctly).D is incorrect because it reverses theirand there(though they’reis used correctly).
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Multiple-Choice 11EnglishAny man whosefriends won’t tell him secrets is not to be trusted.A.NO CHANGEB.who’sC.who’seD.who is
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A is correctbecause the possessive form is needed here. Like all possessive pro-nouns, the possessive pronoun 

whosedoes not have an apostrophe.B is incorrect because who’sis a contraction of who is(which does not make sense  in context).C is incorrect because there is no such word as who’se.D is incorrect because who ismakes no sense in context.
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Multiple-Choice 12EnglishThere are probably a thousand things I could of done to make her stay, but now I’ll never know.A. NO CHANGEB.could of didC.could have didD.could have done
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D is correctbecause the phrase is could have done. The past-tense construction could  have, used to indicate possibility, should be combined with have done, the present-perfect tense of do.A is incorrect because there is no such thing as could of.That is a mistake people  make because they mishear could’ve, the contraction of could have.B is incorrect because there is no such thing as could of. That is a mistake people  make because they mishear could’ve, the contraction of could have. Also, could have  combines with the present perfect form have done, not with the past tense did.C is incorrect because could havecombines with the present perfect form  have done, not with the past tense did.
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Multiple-Choice 13EnglishThe book fromwhich the movie is based is considered  superior by critics but is not nearly as well known.A. NO CHANGEB. onC. inD. to
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B is correctbecause we would say that a movie is based ona book. So the book on  which the movie was basedis the proper construction. Preposition usage is often   idiomatic, meaning that there is no explanation for why one preposition is right over  another in a particular place. It is simply either what we say or not what we say.  The only way to know is if our ear can determine the correct usage.A is incorrect because we do not say that a movie is based froma book.C is incorrect because we do not say that a movie is based ina book.D is incorrect because we do not say that a movie is based toa book.
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Multiple-Choice 14EnglishEvery time he lookedat the crack in the ﬂoor at the train station, he felt an inexplicable sense of loneliness.A.NO CHANGEB. looksC.lookingD.had looked
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A is correctbecause the past tense lookedmatches the past tense felt, which  appears later in the sentence.B is incorrect because the present tense looksdoes not match the past tense felt.C is incorrect because the participial form lookingdoes not match the past tense  felt. It also does not grammatically ﬁt with the words immediately around it.D is incorrect because the past perfect had lookeddoes not match the past tense felt.
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Multiple-Choice 15EnglishWe drunkpink lemonade until the sun went down.A.NO CHANGEB.drinkC.drankD.had drunk
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